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( History of Economic Thought )
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
were fraTfRee fodel SRpiica Tee fie
fa) Who is considered as the father of
Physiocracy?

I AFfeamd fPre Fmeet o a1 =0 2

() Who was the exponent of ‘scientific
socialism’?
‘RIS AR 2O (T ez 2

() In France, Mercantilism was known
as (Fill in the blank)
TS mﬂ%ﬁw AT Sl ColfRe |,

(et ?ﬂivﬁq 247)

(d) Mention the two factors that determine
Ricardian concept of exchangeable
value.

e Rt 1= ﬁn‘m 91 B IR A
TrEd 41 1
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(e) “Malthus is basically known for his two
contributions.” What are they?
“uERR dgEe: (o€ ol SN I
e 1”7 oikeeen & @2 ‘

(i Who is referred to as the last classical
economist?

Tl S A wefeR I T =7
(g) Who said, “Rent is a differential surplus™?
@ FRE, ‘e (e 9@ AefTaie

59?

; : heitun 4-8
- 2. Answer the following questions 11 brief : 2%
OIS SRS BSI‘@ ey fora -

(@) Explain the physiocratic concept of
‘net product’.

TR o e’ QACH] 0 1

(b) Mention Adam Smith’s four Cannon’s of
Taxation.

M P2 3999 5101 A SCE 9

(c) State Malthusian theory of gluts.
AT @I ©geo1 I T |

(d) «J. S. Mill introduced a three-fold
classification of commodities anc}’
thereby extended the theory of value.
Mention these three types of
COMOdities.

“ca. @b, fita (ody e TS B!

CAR TR T Sray FEcE 7 I AFR-
@20 5 5 2
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3. Answer any three of the following

questions : e

oo 2 R e fofbm Ted for -

(a) Examine the causes of downfall of
Mercantilism.
SISERT ASTE FREPTR “_ 1 |

(b) “Supply creates its own demand.”
Explain the statement.

u@-]-qn-c;{ ﬁ@a 'ﬁ[ﬁlﬂ‘j{@ Wl” m 95T
Sl

(c) Show the distinction between
physiocratic ‘natural order’ and Adam
Smith’s ‘naturalism’.
B2 ST TS M| G2 S M Sl 1 R
‘eI T AT ALFPRZ (A |

(d) Mention the three factors responsible
for the crisis in a capitalistic economy.
“ffEaim WL 1369 fefFo e Seag w41 |

(e) Explain Ricardian theory of rent.

ReIcsR s SGo! W w4 |

4. Answer any three of the following
questions : 10x3=30
e 2R R e foem S R -

(@ What is Mercantilism? Name any

two mercantilist writers. Mention the

factors responsible for the growth of
Mercantilism. 2+2+6=10
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s1elRAm 50 & e e s e
1w o1 | ek SR FEPHR S 9 |

(b) Examine the relevance of Marxian
Economics in the underdeveloped
countries.

SeES (pIS WIS AT epRiEel R
401

(c) Critically examine Malthusian theory of
Population.
AR GPRAE OGOl AR TS 1l
<97 |

(d) Examine the Adam Smith’s views on
economic development.

SAfeF TRER @Re SN NN qEes]
T 1 |

() What is Tableau economigue of
Quesnay? Explain the physiocratic
views on ‘taxation’ and ‘rade’. 4+(3+3)=10
(P Tableau economique I &
T2 T e qfde’ oA ApfeamTeAs
TR ScaTseT 47 |

(f) Explain briefly the main contribution of
David Ricardo. Is it correct to call him a
pessimist?

ofen RACH 3o SRAPEE T FA
RvTcee sryend 9fer RICT Wt 2
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